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= few arrat ® § F5 § qfedt g o 7w 3 § | Ffears area & 5w wwr § feat g 39+ ey
FEAT (A, &, |) AT ATATHRI AT AT AT qTFT § FS T J7 AT (F) AT AR FHT AT |

T AHAT T I () / TIEE FIE 50 3 (F) / 3T T qIF Tal w4 | (F) / FE Al T2 2 1 ()

A= B.@
c.H D.T
Answer Key - A

= Rw arrat ® | F8 6 qfedt g 6 T 30 § | Tfears arag & 5 9w § feat gf 394 ey
ET (3, T, T) FTA TATRIT T AT TS A7 § AT A T S AT (F) AT TATHIE Ol AT |

AT AT AR B A AT A (@) [T F9T A1 & () T A § e v | (@)
A TR 21 ()

A= B.«
c.® D.T
Answer Key - B

Fr= R arrt & & g § AfeAt 8 & 7w 21w 2 | Afears are F S| 9w § qfeat g 396 a9
ET (3, T, T) AT TIATRIT T AT TS AT § AT A1 T & ATl (F) AT TATHIE &l AT |

AT & AR 6 () / 3 UH FF oL (S g2 1| et &7 (&) / &% #5787 &0 ¥ 9@ -amfeq
e (@) /FE AT L1 (@)

A B.¥
c.@ D.T
Answer Key - C

= faw arrt 7 7 $ 7 Ffeat 2 o 7= 21 2 | Afeare ar F R 9w § qfeat g 376 g7
ET (3, T, T) AT TATHIT T AT TS AT § A1 [ T & ATl (F) AT TATHI &l AT |

FTeqa | =ATF &7 (1) / TUET G T STHTAT AT (F) / ST T2t g | (7) / FE A TR Y 1 (F)
A B.¥

c.@ D.g

Answer Key - C
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= Rw arrat ® | F5 § qfedt g 6 7w 3 § | Tfears arag & 5 9w § feat gf 394 ey
AT (S, F, 7) AT TEATHRIE T AT T3 e § w12 Ffe T 27 A7 (F) AT TATHRT FT FET |

Fv T % foAT (31) / Sfew § () / sTEwerar 95t (A gt (7)) / 7S e Tgil ()

A B.¥
c.@ D.=T
Answer Key - C

= U arr it ® | F8 § qfeAl g 3 T 31 © | Afeara arag & 5| 90 § qfedt g 394 Tqeq
ET (3, T, T) AT TATHIT T AU TS AT § Al A1 T & ATl (F) AT TATHIE &l AT |

e T AT H 77 O AT 7 (3T)/ Y- ¥ gad ST §(F) /T8 9 W AaLaT 6 91 GET
TEAT 2| (|)/ 1€ Af T (3)

A B.¥
c.g D.T
Answer Key - C

Fr= A gt § & g § At 8 o 7@ 21w 2 | Afears are F S| 9w § At g 396 A9 T
SET (3, T, T) AT TATRIT T AT TS ATFT § Al (& T & Tl (F) AT TATHIE &l AT |

T AT FT (1)) 287 F7 33T GA(F) / TF ST 19 g1 (F)/ F2 A Th1 ()

A& B.@
c.g@ D.T
Answer Key - C

o fow arrt ® | g § Afedt § o T 2 | Alearer At o S wwr § F[feat gt 39 ey
AT (3, T, ) FTeT TATRIL T AT I 77 § H72 AT T S0 AT (F) AT TATHIE T AT |

T AT THATT TgATHL (37)/ TV 7 THET A S D (F)/ THAT TgA1AT | (F) Fls A Tal
21 (3)
A& B.=@

c.@ D.g

Answer Key - D
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10.

1.

12.

13.

= Rw arrat ® | F5 § qfedt g 6 7w 3 § | Tfears arag & 5 9w § feat gf 394 ey
AT (S, F, 7) AT TEATHRIE T AT T3 e § w12 Ffe T 27 A7 (F) AT TATHRT FT FET |

A " UH Y g (31) /LI (F) / 99 9T a9 3 | (|) / F e AT @ (3)

A& B.@
c.g D.=T
Answer Key - D

T faw arrat & & g § et € o = 3 § | qfearer e & 5| 9T § Jieat gf 376 aqsT
ET (3, T, T) AT TATHIT T AU TS AT § Al A1 T & ATl (F) AT TATHIE &l AT |

T H T () /21T § S () /et F ar g 9w (@) /A A T2 (3)

A B.¥
c.@ D.=T
Answer Key - C

FTEAT % [ ST 00 G o (o103 0 F-A17 faawedt ¥ S ot 9T |

G F HET | Fael TG Tl a7 dfeh FAATE |

A. T\ B. AT
C. T D. T
Answer Key - B

Tt % Foh el g & forg R e = et | suges faer g

FTET U UHT ATEAH & ST St Fr o qEg aqT &g |

A.g@< B. ¥v&
C.# = D. wEeaq T
Answer Key - 0

Tt & Fow Tt i g & forg fRw e s et & suges feer g

THA FHT TEIAR FIA AT THT T & foremrora Feft FE FET |
A. stfereRar B. wHT

Answer Key - B
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15.

16.

17.

18.

AT % [ ST 6 O o forg & 0 Fe-ame fawedt & s foeeT ghT |
ST Hehe I ATRF T TETAAT AT g 98 T == 2

A. sfEas B. ATfea®
C. grii= D. st
Answer Key - C

Tt % Fow el T O & forg R e =R et & sues faer g
e it STeeaT FT = F g & T FEATAT 2

A. ad B. #9H

C. waw D. g9
Answer Key - B

Tt & Foh Tl i g & forg R e = et | suges faeT g
agT =A<k 8T & S 5 o oI ST YTOT ¥ T=Te?. e T qcTE TadT gl
A. T B. HUaT
C.afxw D. "5+
Answer Key - A

Tt & Fow Tl i g & forg R e s et | sues e g

ATE-ATE | AT T F feam

A TEFET B. FHTA
C. wHtad D. & =r@r
Answer Key - B

Tt o Fh el A g & forg &R e s faeedt | s T e

FAE AT AT E, g
A TTE B.a
C.vaqa D. aaT

Answer Key - B
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19. AT % [ ST 6 O o forg & 0 Fe-ame fawedt & s foeeT ghT |

20.

21.

22,

23.

TR o AT AT AIE] H T FATd A

A. fa B. g
C.=% D. gt
Answer Key - B

Tt % Fow el T O & forg R e =R et & sues faer g

S R T S Rl

A EFIT B. ereft
C. =Tfar D. &f=F
Answer Key - C

& 1w 9rex % Aty % forw A-A R fw e § 13t fewer gfaw

AT

A. FTHT B. T
C.yax D. y=T
Answer Key - B

& T 9rex % Aty % forw Am-A fwer fw w8 13t fewer gfaw

AT

A. Femafa B. wfcrt
C. FHAT D. #Frfeiar
Answer Key - D

3 1w 9re % wATT & forw A-Aw e faw e 2 1St e gfAT

qh
A. THATH B. arfa=t
C. =T D. =mH

Answer Key - A
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24 .

25.

26.

27.

28.

3 1w 9re % wATT & forw A-Aw e fw e 2 (st e gfAw

st

A. drw B. sty
C.®gX D. qaIT
Answer Key - 0

= 1w 9rex 3 watT % forw A-A G fw e # 1St feer g

EEE]

A T B. &ar
C.9Hix D. 9Ta®
Answer Key - 0

& 1w erex 3 e o forw A=A ferew fiw o ) sfea ferer g

A. TF9TH B. SIEAATE®
C. THTaa: D. w1
Answer Key - D

& 1w erex 3 fae % forw =Ae-a e fiw wrw 3 ) sfea e g

EIEEID]

A. faFeq B. Ao
C. fawa D. fashear
Answer Key - B

3w 1 9rex % A % o a-aw foeen i o 8 ) sfea faser 3w

efforeh
A. HT B. e
C.@ex D. &1 WiT

Answer Key - B
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29 . & 1 9rex % o & o a-aw fowen R o 8 )| sfea faser gRT )

T

A. srfererfze B. srfererma
C. urfoaea D. srfyEre
Answer Key - B

30. faw aw erex % foer® & forw s e-ame fomey faw 1 8 | Sfa e g9

Ty

A. sty B. ffrfaw
C. s D. =farg
Answer Key - B

31. & 1w 9rex % e o o A=A feer fRw o § | s Eer giaw

Fied

A, T B. %1
C. = D. @&t
Answer Key - A

32. & 1w erex % e % forw A=A foeen fiw o 3 ) sfea faerer g

EEICIES
A foEm B. firmax
C. WA D. e

Answer Key - (]
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33.

34 .

35.

36.

& 1 9rex % o & o a-aw fowen R o 8 )| sfea faser gRT )

"L

A. T B. Fqd
C. TaFAH D.32
Answer Key - B

& 1 9rex o e & o a-Aw foesen R w5 | sfa faseT AT

A. T B. famr
C. g D. ¥\
Answer Key - B

2 1w 9rex 3 e o o A= ey f”Rw o | sfa e g9

FAATT

A. TR B. qgeaT
C. ¢ D. 7™
Answer Key - A

T 1T 9183 % g1 A+ o forw = feer fRw e 8 | 39 & "t fewer T

FEHOE
A. Teefs B. we<for=T
C. Te9i+T D. veoffy
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37. R T ers7 % g AT % g = e R w € ) 39 & e fwer g

38 .

39.

40 .

41.

LElEIn

A, we:fRafy B. Wi
C. warefT D. g:fRerefy
Answer Key - A

3w U orex % 9[F AT ® forw 9T fasen faw T 8 | 39w & afa e gihw |

Rregr

A. sfrezt B. szt
C. fSrear D. frgar
Answer Key - C

T 1T 9183 % g AT 0 forw = e fRw e 8 | 39 & s Rreen g |

e

A. e B. {9zt
C. gt D. figt=
Answer Key - C

3w 1T 91ex % g1 AT 6 forw = fewer fRw e | 39 & "t fewer Ao

ENEIDI

A. FTHHfT B. &fenft
C. arifY D. wfufy
Answer Key - (]

3w T eredt % g adAt % forg = e faw e 8 | 9 & e BT g

R
A. zfagE® B. sdfterferT
C. ufagrrs D. Udfrerfa
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42 .

43 .

44

45 .

46 .

T3 T 9Te=T % L Tt & g A1 fashed faw 1 8 | 39 & a9 fGEer ghw )
gEaTey

A. gEaET B. gt

C. g&a-37e1 D. geaterT
Answer Key - A

R 1T 9reat 3 g AT F forg = e fRw iy § | S5 & s BT e
E IOl

A. STThRT B. gt

C. sTgf<h D. sreatf<e
Answer Key - B

3w 1T srest % 9 adAT % forg = fse faw o € | 59 & s BT g
Rty

A, Tl B. =i

C. =fizfa D. femt
Answer Key - B

3w T oredt % g aaAt % forg = e faw e 8 | 39 & a9 BT gfhw )
YT

A. StaT B. WT=T

C. w=ieT D. W=T
Answer Key - A

3w T srsatent % forw U ereg % = ooy f3u g 594 & sfea faser gAw

T HA T |

A. FTOfT B. T

C. g% D. srufix
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47 . 3w T srsatent % forw U ereg % = ooy f3u g 594 & sfea faser gAw )

48 .

49 .

50.

51.

e a1 R AT T A 2

A. 3FITIETHT B. fRameft
C. waTet D. srvEmEft
Answer Key - A

= 1w sreatent % forg we ersx F = e fRw & 59 | e ferer 99w

TSraeht srerT 7 &7 TE &
A. e B. sTsreATiarT
C. sTifera D. sThifera
Answer Key - B

T 1w sreatent  forw w ersx % = frwew v 8 59 & sfva fsrer gfw

FAT B ATAT T

A. sETATRE B. rhfeA
C. 3mieas® D. SHTATE
Answer Key - C

3 T srsatent  forw u ersg % = ooy faw g 59 & sfea fased gfAw

ST =T e oy 9 2

A. T B. T=ATd
C.vfaE D. swfiE
Answer Key - B

fow 10 T ST FRradt % o F oy = Aoy Ry wu & | 399 7 3t o ghw

staT afe Yast Ry -fR srat #r 2
A. 3 HT FT FTH FAT B. ST FEAT

C. U gl FTH & IgaHT D. U= =xf~r ¥ forw s FwAr

Answer Key - B
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52. U U HgraY si7 dgradl & o7 & forg 9 faeed faw w € | 399 7 3T e qF=T

53.

54.

55.

56 .

FET FT AAT T HTET FT 247 |

A. Rt FT A SR A I B. freft & a9 7 AT
C. 9 AT D. AT AT T 1T
Answer Key - A

T 0 T A7 FRraal F o F o = Aoy Ry ru # ) 399 7 3t o g

et § A oo 91 q@et § #4722 |

A. FTETELT FT FTH FHTAT B. &M a1

C. fautxr s =1 3= e D. faufr & W
Answer Key - C

T3 10 qErEy o7 wEEat & o9 & forg =% fEees Ry e 2 9 | s ad gihw |

T Az AT FATAT FlE ATE Frae FT |

A. 3z § fogear B.. &Y 1 AT T HT ARt rar
C. &t g D. e gHT

Answer Key - B

3 T wEmEy o7 wEEat & o9 F forw = Gwer Ry e 8 | 59 & sfa e g

TS FT ZIET T - AL TE T |

A. 4G T T &1 GTAT ST Gl & B. €@ 3T
C. Freft 1 e D. fdt ¥ =% o
Answer Key - A

3w T qEray &7 FEEdt & o F forg = fAwer Ry e 8 | 59 & sfa aef g

ZET AT & AT AT
A. F5T FTF F7AT | B. fFeft oft avg #1d g F4A1|
C. =T hTd AT | D. FTeTeh! e |

Answer Key - B
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57.  fRU U qgraY siw dgradl & o & forg 9 faeed few w € | 3 7 3T e g

58 .

59.

60 .

TEAT T T ZTT AT

A. SFET FHT ATH ISTHT | B. ¥ &Y & AT |

C. &t & FIET 141 D. T T F&IFNT AT |
Answer Key - A

3T T qErEy o) FeEal & o & fog F17 fawer Ry i 8 | 39 & s sef gAw )

FHTT T FehlT g

A. T T FT | ST B. 39 1T I oL L&A1 |
C. st faeamft AT | D. &t it ama T 7T
Answer Key - B

T3 10 qErEy o7 wEEat & o9 & forg =% fEees Ry e 2 9 | s ad gihw |

& 1 drua feamm

A, 9 H AT | B. T # ST AT |

C. & THERTT AT | D. g =f<h #1 7= 37 |
Answer Key - D

3 T wEmEy o7 wEEat & o9 F forw = Gwer Ry e 8 | 59 & sfa e g

HET TR FEAT|
A. T HZAT | B. feara 2T |
C. =TT D. = =T TATC AT |

Answer Key - B
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61.  fRU T T F7 95! Tal & | 3% Gel B & A [Ahed (U T ¢ | 374 § Gl fFswhed 9ET |
1) FEl &
2) ST el BT

3) 3TIHT Ig AZHT

4) RrE geT o

A.1,3,2,4 B.2,1,3,4
C.3,1,2,4 D.2,4,1,3
Answer Key - C

62. 3 T AT W TEt AR 8 | I dat FH & A1 fower w8 | 39H & w8l fawer gfaw )
1) ST el F HETSA
2) e 7
3) W ET AT

4) I T T THET
A. 1,234 B.4,2,3,1

C.1,324 D.2,4,1,3

Answer Key - D

63. T3 1T AT W TE AR 8 | S det wH & A1 faher Ru e § | 59H 981 AT gfaw
1) St ETeft &

2) ST T AT ferfasT 9%

3) 7gT &1 Y
4) T F¥ ATAT
A.2,4,31 B.1,2,3,4
C.2,3,1,4 D.1,3,2,4

Answer Key - A
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64.  fRU T ATET FH GGl el & | S Gl HH b AR [Ahed (U AT E | ITH F Al AT gET |

1) =T | GuTAT =T

2) fRxraa ® & foram

3) qfer & 3% o

4) TS =T S S ATt Ay
A.1,2,3,4 B.3,2,4,1
C.4,3,2,1 D.2,4,3,1

Answer Key - B

65 . 3 T AT W TEt AR 8 | I dat FH & A1 fower w8 | 39H & w8l fawer gfaw )
1) Fga afa g2
2) ST FeT H
3) SITH-uTe T

4) T TR H
A.2,4,31 B.1,2 3,4

C.3,4,2,1 D.2,1,3,4

Answer Key - A

66 . T3 1T AT W TE AR 8 | S det wH & A1 faher Ru e § | 59H 981 AT gfaw

1) o7 § e foraT 8

2) =TAF T aF AT AT

3) AT T I

4) v T e =gy
A. 4,3 2,1 B.1,3,2,4

C.2,1,4,3 D.3,2,1,4

Answer Key - A
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67.  TRU MU ATET FH GGl Tl & | S Ggl B & AR [Ahed (U T E | ITH F qef AT 9ET |

68 .

1) 9% -aTEY el A 9 J(U

2) fafersr Svartae Suettedat % 2909 g @

O EIRIUBETEIIELEIEE R

4) YA FIH IT

A.2,3,1,4 B.1,4,3,2
C.3,2,1,4 D.4,3,2,1
Answer Key - B

3 T AT W TEt AR 8 | I dat FH & A1 fower w8 | 39H & w8l fawer gfaw )

1)%?3170!'51?_{1?1':

2) a8 | T 19 dH

) AT R AT ®

4) T raet a=get 7 TN F2d &
A 2,341 B.4,2,1,3

C.2,4,1,3 D.1,2,3,4

Answer Key - C
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69.  faw T AT B WEN AL & | Ik WA FH WL (AFeq R A0 E | ST W e AT |
1) & e BN E
2) Tt e e ofy
3) for w=re g %

4) TET 9T § ATHLATIHT
A .3,1,2,4 B.1,2,3,4
C.2,3,1,4 D.2,4,1,3

Answer Key - A

70. 3 T AT W TEt AR 8 | I dat FH & A1 fower w8 | 39H & w8l fawer gfaw )
DEEALESEE
2) s it 3w e
3) IS M T FAT H

4) I, 9T, WET T
A.1,2,3,4 B.4,2, 3,1

C.3,2,4,1 D.2,4,1,3

Answer Key - B
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7.

HIRUT & 9¢ & BT 77 14T & 9w | mat & 3o R IR AFea’ # Bw 7w
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HIRUT & 9¢ & BT v 14T F 9w | M=t & I+ R IR fFea’ # Br 7w
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HIROT & 9¢ & BT v 14T & 9w | mat & I+ R IR AFea’ # Bw 7w
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HHA I E P FT W @07 w1 AR gAfee HoaAer g3 e o
Il P T S FEH T Hel ol F 9ig & g & & ISdlel 95qT bl

TG cafad 3hell USolldl ol Sdel @ieldl ¢, Hedl & 3R ddd Ald o]
fafsteet canferil & RISR glax e & Taeed dge & ol §

aroft T FerT @A 81 SA1dr 8, 39 o &1 Al §, AR 7 ddd & SR
96 W SRAT 95 AT § R edaad # & gerar ¥ ol ol Y R #

urae g FY A5 FX adT B
TH AT &1 U+ 39 s Sifeme

A | FIE | B. | &Y T gl |

C. | T = 36T | D.. | &IE #AFS FT JgH |

Answer Key - D



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


MASTER QUESTION PAPER WITH KEY

Exam Code : SSC_JHT_150617_2 Exam Date : 15-Jun-2017

Duration: 120 Exam Time : 2:00 pm

81.

HIRUT & 9¢ W BT 77 14T & 9w | maf & I+ R IR Awea’ # Bw 7w
¢ | s e gRT |

A FAe[sd I EANGH Wdicd el off Hehdll ol 3G A
faure &, Aqed MMT T4 761 6 Tehdll & H B 96 Toel BT b,
M GE oA Al bl 396 GE-gW@ & &707 Mdl A TR gl 6, T M
ShaeT 1 Hisled § | 385 gad i gicd Id MR &1 gidr &1 3iicerrel & Aleid
TET AT AT IET | FhareT G4 & oig &7 gel Telldl g3 Ider aiFe & it
dlel AT §, 39eT Il ¥ 3T Afaer H HAdT ¢ amsiard s & 9l
m—mﬁﬁrﬁmm}ﬁﬁaﬁrmﬁmwﬁmﬁmw
T AT ol T & ST I TN TSRT & I § §HET 9 "igedad gl
o Faer STl Y G AR g @ o wiorafad & &ar &1 S 3R AW dar
§mﬂ%ﬁmﬁmwmﬁmmmﬁlmﬂﬂﬁ &
g & SeeT MGt @ e Ma B Gar & TS & AT Sad F e
o1, 3A Fr, FEoW FI, ITF Ted F, IAF TACT GE-GE H FElell S0
fafya & | o ST frder FIdT @7 IR AT AT T AT IE B 2

AT F AT H FTEHRERE wgfea g swiae T & FiF Te-

‘a2
4

]

3p 3

= ) T
A | FIEE g&T H gvd HLAT ol B. | & !
A & Ad il g 4
C. | srfErcafa & D..| HeTa Fr ThreT T dAdr B

Answer Key - C



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


MASTER QUESTION PAPER WITH KEY

Exam Code : SSC_JHT_150617_2 Exam Date : 15-Jun-2017

Duration: 120 Exam Time : 2:00 pm

82.

HIRUT & 9¢ & BT 77 14T & 9Rw | mat F I+ R IR AFea’ # Bw 7w
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sH fateTr gomell & caraEif@e fER woner W ad fEmr = @ &ars fifEg
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TR gRR W FW 35 seiod A & el & fov 9Ra  fkar & @1 ¢
sH fateT gomell & caraEf@e fER woner W ad fear o @ &ars fifEg
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ror 3R "I & ufd gifdea @y AT gaT adae RieT yonel ganst & Tse
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eI Al SR §| A% e Afd & aeta s ard s eae & @ g [@en
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feRam aram §1 379 Adie R qomell & Aqda fAeaniat 1 sfd.as 3R s &
TR gRR W FW 3o elod A & el & v aRa  fkar & @1 ¢
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EIEINCA RS eI FE s
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arETTees _(91) 1 Nfaw ¢ T aEiees & J i, o9, g, W1 AT
% IR R R veR & _(92) & R Swl e §Ae @asT e 3R
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FHASAT STl &1 3e6 @AGS ASRT & _(97) & &ar = g1 gAx dA=T #
aﬁ%maﬁ%—m%%%lwmﬁmwmm@ragdﬁr
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& v 3 e & afew| weariaa awedt & wgRa ey gaw |
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Tl AT _(93) & S| AR 887 H ATAMSIS TH6ar & _(94) &1 Sifa-ger
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& HROT TS AfFd FA A _(9B) F T F W{/A ol 30 A & _(96)
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0, A Ru av sgedy & wfoww e e Re aw §1 ¥ oreg vaw Rea wue
- i & Rw oyraRe Reewt & aFaRe 1 aaeds & R & wese
& v 3 e & afew| weariaa awedt & wgRa ey gaw |

arETTees _(91) 1 Nfaw ¢ T aEiees & J i, o9, g, W1 AT
& IR W Rl wR # _(92) o FRAT ST HeR @AW GAS vl 3R
Tl AT _(93) & S| AR 887 H ATAMSIS TH6ar & _(94) &1 Sifa-ger
& HROT TS AfFd FA A _(9B) F T F W{/A ol 3o GAS & _(96)
FHASAT STl &1 3e6 @AGS ASRT & _(97) & &ar = g1 gAx dA=T #
aﬁ%maﬁ%—m%%%lwmﬁmwmm@ragdﬁr
sl &1 arlifes 3T _(98) fawra-gare &9 & 61 g1 uran s&d arAfs
Feodfad & _(99) usdh ¥ 56 UHR T IEAEAT & oI e _(100) B

A dJAT B. HIdTh
L (]
C ST D. HOAT
Answer Key - B
101. In the following question, each sentence has four parts marked P, Q, R and S. Choose the

part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)" as your answer.

The angry man walked hurriedly (P)/into the crowded room (Q)/and shouted loud at the
guest. (R)/ No error (S)

A P B.Q

C.R D.S

Answer Key - C
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102. In the following question, each sentence has four parts marked P, Q, R and S. Choose the

103.

104 .

105.

106 .

part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)" as your answer.

Looking forward (P)/ to meet (Q)/ you soon. (R)/ No error (S)

A P B.Q
C.R D.S
Answer Key - B

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

He is (P)/ a mason who (Q)/ built my house. (R)/ No error (S)

AP B.Q
C.R D.S
Answer Key - B

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)" as your answer.

What you will think (P)/ if school boys make (Q)/ fun-of you? (R)/No error(S)

AP B.Q
C.R D.S
Answer Key - A

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)" as your answer.

The Minister’s speech (P)/ has been reported (Q)/ to the newspaper. (R)/ No error (S)

A P B.Q
C.R D.S
Answer Key - D

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

Such an act of cruelty (P)/ had never be (Q)/ committed before. (R)/ No error (S)
AP B.Q
C.R D.S

Answer Key - B
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107. In the following question, each sentence has four parts marked P, Q, R and S. Choose the

108 .

109.

110.

111.

part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)" as your answer.

When you have written your essay, (P)/read it over carefully (Q)/to correct possible mistakes.
(R)/ No error (S)

A P B.Q
C.R D.S
Answer Key - D

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

No one but (P)/ he knew who was set(Q)/ the question paper. (R)/ No error (S)

A P B.Q
C.R D.S
Answer Key - B

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)" as your answer.

A box (P)/of apples (Q)/ are in the car. (R)/ No error (S)

AP B.Q
C.R D.S
Answer Key - C

In the following question, each sentence has four parts marked P, Q, R and S. Choose the
part of sentence with the error and mark as your answer. If there is no error, mark 'No error
(S)' as your answer.

The house (P)/ was built (Q)/very attractively. (R)/ No error (S)

AP B.Q
C.R D.S
Answer Key - D

Fill in the blank with most appropriate word which will suit the context of the sentence.

Many employers like to visit college campuses and _______ college seniors to work for their
companies.

A. Daunt B. Recruit

C. Entrust D. Enroll

Answer Key - B
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112. Fill in the blank with most appropriate word which will suit the context of the sentence.

113.

114 .

115.

116.

As the pressure of her business became overwhelming, Mridula chose to her role as

the President.

A. Expedite B. Transgress
C. Assert D. Relinquish
Answer Key - D

Fill in the blank with most appropriate word which will suit the context of the sentence.

Normally, Maya would not have made so many spelling mistakes in her essay; she is usually

about her spelling.

A. Sumptuous B. Scurrilous
C. Ridiculous D. Scrupulous
Answer Key - D

Fill in the blank with most appropriate word which will suit the context of the sentence.

Although Sumithra was afraid of heights, she seemedto have no about driving over

bridges.

A. Guilt B. Qualms

C. Quandary D. Repercussion
Answer Key - B

Fill in the blank with most appropriate word which will suit the context of the sentence.

The meetingis ______; everyone must attend.

A. Optional B. Compulsory
C. Exclusive D. Functional
Answer Key - B

Choose the correct synonym of the given word from the options given below.
RECALCITRANT

A. Disobedient B. Indolent

C. Modest D. Dependent

Answer Key - A
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117 . Choose the correct synonym of the given word from the options given below.

118.

119.

120.

121.

122.

SUCCUMBED

A. Continue B. Conquer
C. Be born D. Perish
Answer Key - D

Choose the correct synonym of the given word from the options given below.
ENNUI

A. Anger B. Boredom
C. Excitement D. Bright
Answer Key - B

Choose the correct synonym of the given word from the options given below.
BOULEVARD

A. Alley B. Highway
C. Avenue D. Driveway
Answer Key - C

Choose the correct synonym of the given word from the options given below.
PRESUMPTUOUS

A. Ridiculous B. Unthoughtful
C. Arrogant D. Ambiguous
Answer Key - C

Choose the correct antonym of the given word from the options given below.
PRIVY

A. Covert B. Personal
C. Private D. Unconcealed
Answer Key - D

Choose the correct antonym of the given word from the options given below.
VOCIFEROUS

A. Loud B. Quiet

C. Voracious D. Powerful

Answer Key - B
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123. Choose the correct antonym of the given word from the options given below.

124 .

125.

126 .

127 .

MALEVOLENCE

A. Kindness B. Malice
C. Animosity D. Enmity
Answer Key - A

Choose the correct antonym of the given word from the options given below.
ABSTEMIOUS

A. Willing B. Greedy
C. Ascetic D. Austere
Answer Key - B

Choose the correct antonym of the given word from the options given below.
RECEDE

A. Decrease B. Wane
C. Advance D. Refuse
Answer Key - C

Choose the option which best expresses the meaning of the idiom/phrase given below:

"As cool as a cucumber"

A. Be cold hearted B. Calm
C. Be careless D. Lacking composure
Answer Key - B

Choose the option which best expresses the meaning of the idiom/phrase given below:

"To bury the hatchet"
A. End hostility B. To confess

C. Hide stolen goods D. To hide evidence

Answer Key - A
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128. Choose the option which best expresses the meaning of the idiom/phrase given below:

129.

130.

131.

"Let the cat out of the bag"

A. To make a lot of noise B. To reveal a secret unintentionally
C. To start a quarrel D. To walk around like cat
Answer Key - B

Choose the option which best expresses the meaning of the idiom/phrase given below:

"Fly off the handle"

A. To dive into the pool B. To jump from a building
C. Tofly a plane D. Become angry
Answer Key - D

Choose the option which best expresses the meaning of the idiom/phrase given below:

"Beat the air"

A. To make angry gestures B..To swing a stick

C. To make a futile effort D. To do physical exercises
Answer Key - C

In the following question, there are six sentences marked S1, S6, P, Q, R and S. The position
of S1 and S6 are fixed. Choose one of the four options given below which would be the most

logical sequence of the sentences in the passage.

S1. While teaching in the class-room, our teacher suddenly fainted.
P. The headmaster soon joined us and spoke to them in a soft voice.
Q. He was told that the patient needed complete rest for a month.

R. He was at once taken to the hospital.

S. The doctors examined him with serious faces.

S6.The headmaster at once sanctioned his leave.
A. PQRS B. SPQR

C. QPSR D. RSPQ

Answer Key - D
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132. In the following question, there are six sentences marked S1, S6, P, Q, R and S. The position

133.

of S1 and S6 are fixed. Choose one of the four options given below which would be the most

logical sequence of the sentences in the passage.

S1. | searched for my friend all day.

P. Although | was wary and hungry, | was not discouraged.

Q. I crept in and lay on the ground with my bag for a pillow.

R. When midnight came, | felt that | could not walk further.

S. At last, | reached a place where the pavement was raised and had a hollow underneath.

S6. When | woke up, the Sun was already over the horizon.

A. PRSQ B. PSQR
C. RPSQ D. SRQP
Answer Key - A

In the following question, there are six sentences marked S1,S6,P,Q,R and S.The position of
S1 and S6 are fixed. Choose one of the four options given below which would be the most

logical sequence of the sentences in the passage.

S1. Today the Earth has many satellites besides the moon.

P. But the pull of the earth keeps them from doing so.

Q. The artificial satellites do not fall because they are'going too fast to dorso.
R. They are artificial satellites made by man and very smaller than the moon.
S. As they speed along, they tend to go straight off into space.

S6. As a result, they travel in an orbit round the earth.
A. QPSR B. PRQS
C. SPQR D. RQSP

Answer Key - D
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134. In the following question, there are six sentences marked S1, S6, P, Q, R and S. The position

135.

136 .

of S1 and S6 are fixed. Choose one of the four options given below which would be the most

logical sequence of the sentences in the passage.

S1. The crowd swelled round the thief.

P. Suddenly, he whipped out a knife from under his shirt.

Q. The thief stood quiet, his head hung in shame.

R. The two young men holding him were scared by the sight of the shining knife.
S. They took to their heels.

S6. They were followed by the crowd which left the thief alone.

A. QPRS B. SQPR
C. SPQR D. RQSP
Answer Key - A

In the following question, there are six sentences marked S1,S6,P,Q,R and S.The position of
S1 and S6 are fixed. Choose one of the four options given below which would be the most

logical sequence of the sentences in the passage.

S1. Of course, it is silly to try to overcome fears that keep us from destroying ourselves.
P. This is sensible.

Q. You wait until it is out of the way before crossing:

R. You need some fears to keep you from doing foolish things.

S. You are afraid of an automobile coming rapidly down the street.

S6. The only fears you need to avoid are silly fears which prevent you from doing what you

should do.

A. PRSQ B. PRQS
C. SRPQ D. PQRS
Answer Key - A

Rewrite the sentence in Passive voice.

The farmer produces wheat.

A. Wheat was produced by the farmer

B. Wheat has been produced by the farmer

C. Wheat had produced by the farmer D. Wheat is produced by the farmer

Answer Key - D
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137.

138.

139.

140 .

141.

142 .

Rewrite the sentence in Passive voice.

The monkey is imitating the man.

A. The man had been being imitated by the
monkey

C. The man is being imitated by the monkey

Answer Key - C

Rewrite the sentence in Passive voice.

The Police searched his house.

A. His house is searched by the Police

C. His house has searched by the Police

Answer Key - B

Rewrite the sentence in Passive voice.

The school gave him many prizes.
A. He is given many prizes by the school

C. He was given many prizes by the school

Answer Key - C

Rewrite the sentence in Passive voice.
Rajesh kicked the ball.

A. The ball was kicked by Rajesh

C. The ball has been kicked by Rajesh

Answer Key - A

Rewrite the sentence in Active voice.

Such boys are always liked by people.

A. People always liked such boys

C. People always have liked such boys

Answer Key - B

Rewrite the sentence in Active voice.

. The man was being imitated by the monkey

. The man has been imitated by the monkey

. His house was searched by the Police

. His house had searched by the Police

. He has given many prizes by the school

. He had given many prizes by the school

. The ball is kicked by Rajesh

. The ball had been kicked by Rajesh

. People always like such boys

. People always had liked such boys

Such a book will be liked only by intelligent students.

A. Only intelligent students have liked such a

book

C. Only intelligent students will like such a

book

Answer Key - C

book

B. Only intelligent students were liking such a

D. Only intelligent students like such a book
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143. Rewrite the sentence in Active voice.

Her birthday is being celebrated by her.

A. She is celebrating her birthday B. She was celebrating her birthday
C. She has celebrating her birthday D. She had celebrated her birthday
Answer Key - A

144 . Rewrite the sentence in Active voice.

These pictures have been painted by me.

A. | paint these pictures B. | had painted these pictures
C. | have painted these pictures D. | painted these pictures
Answer Key - C

145 . Rewrite the sentence in Active voice.

The result will be declared next month by the university.

A. The university declare the result next B. The university declares the result next
month month
C. The university is declaring the result next D. The university will declare the result next
month month
Answer Key - D

146 . Choose the correct alternative which will improve the quoted part of the given sentence.

Each of our ‘students pay their tuition fee at the beginning of the month.

A. Student pay their B. Students pays their
C. Students pays his D. No improvement
Answer Key - C

147 . Choose the correct alternative which will improve the quoted part of the given sentence.

The pedestrians 'must have to' be very cautious while crossing the road.

A. Are required to be B. Must had been
C. Ought be D. No improvement
Answer Key - 0

148 . Choose the correct alternative which will improve the quoted part of the given sentence.

The fast train ‘come a halt before’ crossing the bridge.
A. Came before to halt B. Came to a halt before

C. Came to halts before D. No improvement

Answer Key - B
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149. Choose the correct alternative which will improve the quoted part of the given sentence.

150.

151.

152.

153.

Make sure you 'contact with' as many teachers as possible.

A. Contact to B. Contact on
C. Contact D. No improvement
Answer Key - C

Choose the correct alternative which will improve the quoted part of the given sentence.

He was urgently in need 'to get his eye operation'.

A. Of eye operation B. For operation on eye
C. For eye to be operated D. No improvement
Answer Key - A

Choose the correct alternative which will improve the quoted part of the given sentence.

| always 'count on him' in times of difficulty.

A. Makes count on him B. Does count on him
C. Was count on him D. No improvement
Answer Key - D

Choose the correct alternative which will improve the quoted part of the given sentence.

We demonstrated to them, how we ‘were prepared’ the drawings.

A. Are prepared B. Have prepare
C. Had prepared D. No improvement
Answer Key - C

Choose the correct alternative which will improve the quoted part of the given sentence.

The novel ideas suggested by the employee 'were appreciated' by the management.
A. Have appreciated by B. Have been appreciated

C. Were appreciative of D. No improvement

Answer Key - D
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154 .

155.

156 .

157 .

158 .

Choose the correct alternative which will improve the quoted part of the given sentence.

The local authorities ‘were never bothering to’ enquire about the unfortunate happenings.
A. Where never bothered to B. Never bothered to

C. Never were bothering to D. No improvement

Answer Key - B

Choose the correct alternative which will improve the quoted part of the given sentence.

We should take up the first item, let 'us begin this song.’
A. This song begin us B. Us begin with this song

C. Begin the song D. No improvement

Answer Key - B

Rewrite the sentence in Indirect Speech.

He said, 'My brother is writing letters.'
A. He said that his brother was writing a letter

C. He said that his brother has been writing a

letter letter
Answer Key - A

Rewrite the sentence in Indirect Speech.

He said, ‘I played badminton.’

A. He said that | had played badminton

C. He said that he has played badminton

Answer Key - D

Rewrite the sentence in Indirect Speech.

Kumar said, ‘I was working.’

B..He said that my brother was writing a letter

D. He said that his brother had been writing a

B. He said that | have played badminton

D. He said that he had played badminton

A. Kumar said that he had been working

C. Kumar said that he was been working

Answer Key - A

B. Kumar said that he has been working

D. Kumar said that he had been worked
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159. Rewrite the sentence in Indirect Speech.

You said, "I'm a doctor."

A. You said that | have been a doctor B. You said that you had been a doctor
C. You said that | was a doctor D. You said that you were a doctor
Answer Key - D

160 . Rewrite the sentence in Indirect Speech.

They said, ‘We know our duty.’

A. They said that they did know their duty B. They said that they had known their duty
C. They said that they knew their duty D. They said that they knew our duty
Answer Key - C

161. Rewrite the sentence in Direct Speech.

The teacher told me that | was neglecting my duties:

A. The teacher said to me, ‘You are B..The teacher said to me, ‘You were
neglecting your duties’ neglecting your duties’
C. The teacher said to me, ‘You have D. The teacher said to me, “You neglect your
neglecting your duties’ duties’
Answer Key - A

162. Rewrite the sentence in Direct Speech.

She told her mother that she was doing her work.

A. She said to her mother, "I do my work" B. She said to her mother, "l was doing my
work"

C. She said to her mother, "I'm doing my D. She said to her mother, "l have done my

work" work"

Answer Key - C
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163.

164 .

165 .

Rewrite the sentence in Direct Speech.

The officer told his peon that he was not efficient.

A. The officer said to his peon, “You were not

efficient’
C. The officer said to his peon, “You not

efficient’

Answer Key - B

Rewrite the sentence in Direct Speech.

You asked me what | was doing there.

A. You said to me, ‘What have you been
doing here?
C. You said to me, ‘What are you doing

there?

Answer Key - D

Rewrite the sentence in Direct Speech.

She asked her father why she should excuse her enemy.

A. She said to her father, ‘Why should |

excuse my enemy?'

C. She said to her father, ‘Why should |

excuse her enemy?'

Answer Key - A

B. The officer said to his peon, ‘You are not
efficient’
D. The officer said to his peon, ‘You have not

been efficient’

B. You said to me, ‘What were you doing

there?

D. You said to me, ‘What are you doing here?

B. She said to her father, ‘Why should she

excuse my enemy?'

D. She said to her father, “‘Why should she

excuse her enemy?"'
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166 .

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

The King of Rampur was not (166) .The following story proves that. Once he
paid a_(167) to a town away from his capital The King's staff governing the
town welcomed the King. As per the Kings desire, a (168) of the renowned
people of the town was called at night. The people (169) the King and bestowed
their praise on him and all sat down to listen to (170) the King had to tell them.
Suddenly lights went out. It became very dark. “Light the lantern!” ordered the
King to his servants. Five minutes passed. The King shouted to know if there
was (171) in lighting the lantern. "My lord, [ am (172) to lay my hand on the
match box. It is so dark!” replied the zervant. “Fool!” screamed the king (173) .
If that is the caze, why (174) vou light the candle first? You can certainly (175)
the match box with the help of the candle.

A | Kind | B. | Cruel

C. Generous D. Wise

Answer Key - D
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167 .

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

The King of Rampur was not (166) .The following story proves that. Once he
paid a_(167) to a town away from his capital The King's staff governing the
town welcomed the King. As per the Kings desire, a (168) of the renowned
people of the town was called at night. The people (169) the King and bestowed
their praise on him and all sat down to listen to (170) the King had to tell them.
Suddenly lights went out. It became very dark. “Light the lantern!” ordered the
King to his servants. Five minutes passed. The King shouted to know if there
was (171) in lighting the lantern. "My lord, [ am (172) to lay my hand on the
match box. It is so dark!” replied the zervant. “Fool!” screamed the king (173) .
If that is the caze, why (174) vou light the candle first? You can certainly (175)
the match box with the help of the candle.

A Homage | B. | Visit

C. Donation D. Fund

Answer Key - B
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168 .

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

The King of Rampur was not (166) .The following story proves that. Once he
paid a_(167) to a town away from his capital The King's staff governing the
town welcomed the King. As per the Kings desire, a (168) of the renowned
people of the town was called at night. The people (169) the King and bestowed
their praise on him and all sat down to listen to (170) the King had to tell them.
Suddenly lights went out. It became very dark. “Light the lantern!” ordered the
King to his servants. Five minutes passed. The King shouted to know if there
was (171) in lighting the lantern. "My lord, [ am (172) to lay my hand on the
match box. It is so dark!” replied the zervant. “Fool!” screamed the king (173) .
If that is the caze, why (174) vou light the candle first? You can certainly (175)
the match box with the help of the candle.

A Meeting (.B. | Majority

C. Procezzion D | Survey

Answer Key - A
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169 .

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

The King of Rampur was not (166) .The following story proves that. Once he
paid a_(167) to a town away from his capital The King's staff governing the
town welcomed the King. As per the Kings desire, a (168) of the renowned
people of the town was called at night. The people (169) the King and bestowed
their praise on him and all sat down to listen to (170) the King had to tell them.
Suddenly lights went out. It became very dark. “Light the lantern!” ordered the
King to his servants. Five minutes passed. The King shouted to know if there
was (171) in lighting the lantern. "My lord, [ am (172) to lay my hand on the
match box. It is so dark!” replied the zervant. “Fool!” screamed the king (173) .
If that is the caze, why (174) vou light the candle first? You can certainly (175)
the match box with the help of the candle.

A Bowed i.B. I Surrendered

C. Greeted D. Offered

Answer Key - C
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170 .

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

The King of Rampur was not (166) .The following story proves that. Once he
paid a_(167) to a town away from his capital The King's staff governing the
town welcomed the King. As per the Kings desire, a (168) of the renowned
people of the town was called at night. The people (169) the King and bestowed
their praise on him and all sat down to listen to (170) the King had to tell them.
Suddenly lights went out. It became very dark. “Light the lantern!” ordered the
King to his servants. Five minutes passed. The King shouted to know if there
was (171) in lighting the lantern. "My lord, [ am (172) to lay my hand on the
match box. It is so dark!” replied the zervant. “Fool!” screamed the king (173) .
If that is the caze, why (174) vou light the candle first? You can certainly (175)
the match box with the help of the candle.

| I
A | Carefully | B. | About

C. Which D. | What

Answer Key - D
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171.

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

The King of Rampur was not (166) .The following story proves that. Once he
paid a_(167) to a town away from his capital The King's staff governing the
town welcomed the King. As per the Kings desire, a (168) of the renowned
people of the town was called at night. The people (169) the King and bestowed
their praise on him and all sat down to listen to (170) the King had to tell them.
Suddenly lights went out. It became very dark. “Light the lantern!” ordered the
King to his servants. Five minutes passed. The King shouted to know if there
was (171) in lighting the lantern. "My lord, [ am (172) to lay my hand on the
match box. It is so dark!” replied the zervant. “Fool!” screamed the king (173) .
If that is the caze, why (174) vou light the candle first? You can certainly (175)
the match box with the help of the candle.

A Tough | B. | Time

C. Patience D. Delay

Answer Key - D
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172.

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

The King of Rampur was not (166) .The following story proves that. Once he
paid a_(167) to a town away from his capital The King's staff governing the
town welcomed the King. As per the Kings desire, a (168) of the renowned
people of the town was called at night. The people (169) the King and bestowed
their praise on him and all sat down to listen to (170) the King had to tell them.
Suddenly lights went out. It became very dark. “Light the lantern!” ordered the
King to his servants. Five minutes passed. The King shouted to know if there
was (171) in lighting the lantern. "My lord, [ am (172) to lay my hand on the
match box. It is so dark!” replied the zervant. “Fool!” screamed the king (173) .
If that is the caze, why (174) vou light the candle first? You can certainly (175)
the match box with the help of the candle.

A Unable (.B. | Looking

C. Confident D | Ready

Answer Key - A
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173.

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

The King of Rampur was not (166) .The following story proves that. Once he
paid a_(167) to a town away from his capital The King's staff governing the
town welcomed the King. As per the Kings desire, a (168) of the renowned
people of the town was called at night. The people (169) the King and bestowed
their praise on him and all sat down to listen to (170) the King had to tell them.
Suddenly lights went out. It became very dark. “Light the lantern!” ordered the
King to his servants. Five minutes passed. The King shouted to know if there
was (171) in lighting the lantern. "My lord, [ am (172) to lay my hand on the
match box. It is so dark!” replied the zervant. “Fool!” screamed the king (173) .
If that is the caze, why (174) vou light the candle first? You can certainly (175)
the match box with the help of the candle.

| |
A Loudly (.B. | Angrily

C. Anxiously D | Happily

Answer Key - B
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174 .

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

The King of Rampur was not (166) .The following story proves that. Once he
paid a_(167) to a town away from his capital The King's staff governing the
town welcomed the King. As per the Kings desire, a (168) of the renowned
people of the town was called at night. The people (169) the King and bestowed
their praise on him and all sat down to listen to (170) the King had to tell them.
Suddenly lights went out. It became very dark. “Light the lantern!” ordered the
King to his servants. Five minutes passed. The King shouted to know if there
was (171) in lighting the lantern. "My lord, [ am (172) to lay my hand on the
match box. It is so dark!” replied the zervant. “Fool!” screamed the king (173) .
If that is the caze, why (174) vou light the candle first? You can certainly (175)
the match box with the help of the candle.

| I
A | Must | B. | Should

C. Don't D | Did

Answer Key - C
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175.

In the following passage there are blanks, each of which has been
numbered. Choose the correct word from the given options which fits
the blank appropriately.

The King of Rampur was not (166) .The following story proves that. Once he
paid a_(167) to a town away from his capital The King's staff governing the
town welcomed the King. As per the Kings desire, a (168) of the renowned
people of the town was called at night. The people (169) the King and bestowed
their praise on him and all sat down to listen to (170) the King had to tell them.
Suddenly lights went out. It became very dark. “Light the lantern!” ordered the
King to his servants. Five minutes passed. The King shouted to know if there
was (171) in lighting the lantern. "My lord, [ am (172) to lay my hand on the
match box. It is so dark!” replied the zervant. “Fool!” screamed the king (173) .
If that is the caze, why (174) vou light the candle first? You can certainly (175)
the match box with the help of the candle.

A | Watch | B. | Try

C. Touch D. Loeate

Answer Key - D
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176 .

In the following passage there are blanks, each of which has
been numbered. Choose the correct word from the given
options which fits the blank appropriately.

The world economy is in recession; the deepest and widest (176) the
1930s. There are (177) of (178) In the industrial countries, but most
serious economic_(179) anticipate that rates of (180) and level of
economic activity will remain low. In all that has been written about
world_(181) , the_ (182) has been overwhelming and narrowly
economic. Few have (183) the human consequences in more than a
superficial manner. Not a single international study has (184) the
recession’s_ (185) on the most wvulnerable half of the world’s
population, i.e., the children.

| |
A. | By (. B. | For

C. | On D. | Since

Answer Key - D
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177 .

In the following passage there are blanks, each of which has
been numbered. Choose the correct word from the given
options which fits the blank appropriately.

The world economy is in recession; the deepest and widest (176) the
1930s. There are (177) of (178) In the industrial countries, but most
serious economic_(179) anticipate that rates of (180) and level of
economic activity will remain low. In all that has been written about
world_(181) , the_ (182) has been overwhelming and narrowly
economic. Few have (183) the human consequences in more than a
superficial manner. Not a single international study has (184) the
recession’s_ (185) on the most wvulnerable half of the world’s
population, i.e., the children.

| |
A. | Glimpses | B. | Studies

C. | Risks D. | Tips

Answer Key - B
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178 .

In the following passage there are blanks, each of which has
been numbered. Choose the correct word from the given
options which fits the blank appropriately.

The world economy is in recession; the deepest and widest (176) the
1930s. There are (177) of (178) In the industrial countries, but most
serious economic_(179) anticipate that rates of (180) and level of
economic activity will remain low. In all that has been written about
world_(181) , the_ (182) has been overwhelming and narrowly
economic. Few have (183) the human consequences in more than a
superficial manner. Not a single international study has (184) the
recession’s_ (185) on the most wulnerable half of the world’s
population, i.e., the children.

| |
A. | Relapse | B. | Downfall

C. | Recovery D. | Slackness

Answer Key - C
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179.

In the following passage there are blanks, each of which has
been numbered. Choose the correct word from the given
options which fits the blank appropriately.

The world economy is in recession; the deepest and widest (176) the
1930s. There are (177) of (178) In the industrial countries, but most
serious economic_(179) anticipate that rates of (180) and level of
economic activity will remain low. In all that has been written about
world_(181) , the_ (182) has been overwhelming and narrowly
economic. Few have (183) the human consequences in more than a
superficial manner. Not a single international study has (184) the
recession’s_ (185) on the most wvulnerable half of the world’s
population, i.e., the children.

| |
A. | Analysts | B. | Findings

C. | Journalists D. | Surveys

Answer Key - A
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180 .

In the following passage there are blanks, each of which has
been numbered. Choose the correct word from the given
options which fits the blank appropriately.

The world economy is in recession; the deepest and widest (176) the
1930s. There are (177) of (178) In the industrial countries, but most
serious economic_(179) anticipate that rates of (180) and level of
economic activity will remain low. In all that has been written about
world_(181) , the_ (182) has been overwhelming and narrowly
economic. Few have (183) the human consequences in more than a
superficial manner. Not a single international study has (184) the
recession’s_ (185) on the most wvulnerable half of the world’s
population, i.e., the children.

| |
A. | Growth | B. | Inflation

C. | Interest D. | Decline

Answer Key - A
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181.

In the following passage there are blanks, each of which has
been numbered. Choose the correct word from the given
options which fits the blank appropriately.

The world economy is in recession; the deepest and widest (176) the
1930s. There are (177) of (178) In the industrial countries, but most
serious economic_(179) anticipate that rates of (180) and level of
economic activity will remain low. In all that has been written about
world_(181) , the_ (182) has been overwhelming and narrowly
economic. Few have (183) the human consequences in more than a
superficial manner. Not a single international study has (184) the
recession’s_ (185) on the most wvulnerable half of the world’s
population, i.e., the children.

A. | Development | B. | Economy

C. |'Wars D. | Economical

Answer Key - B
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182.

In the following passage there are blanks, each of which has
been numbered. Choose the correct word from the given
options which fits the blank appropriately.

The world economy is in recession; the deepest and widest (176) the
1930s. There are (177) of (178) In the industrial countries, but most
serious economic_(179) anticipate that rates of (180) and level of
economic activity will remain low. In all that has been written about
world_(181) , the_ (182) has been overwhelming and narrowly
economic. Few have (183) the human consequences in more than a
superficial manner. Not a single international study has (184) the
recession’s_ (185) on the most wvulnerable half of the world’s
population, i.e., the children.

| |
A, | Aim | B. | Emphasis

C. | Glimpse D. || Supposition

Answer Key - B



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


MASTER QUESTION PAPER WITH KEY

Exam Code : SSC_JHT_150617_2 Exam Date : 15-Jun-2017

Duration: 120 Exam Time : 2:00 pm

183.

In the following passage there are blanks, each of which has
been numbered. Choose the correct word from the given
options which fits the blank appropriately.

The world economy is in recession; the deepest and widest (176) the
1930s. There are (177) of (178) In the industrial countries, but most
serious economic_(179) anticipate that rates of (180) and level of
economic activity will remain low. In all that has been written about
world_(181) , the_ (182) has been overwhelming and narrowly
economic. Few have (183) the human consequences in more than a
superficial manner. Not a single international study has (184) the
recession’s_ (185) on the most wvulnerable half of the world’s
population, i.e., the children.

| |
A. | Delved | B. | Propagated

C. | Investigated D. | Taught

Answer Key - C
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184 .

In the following passage there are blanks, each of which has
been numbered. Choose the correct word from the given
options which fits the blank appropriately.

The world economy is in recession; the deepest and widest (176) the
1930s. There are (177) of (178) In the industrial countries, but most
serious economic_(179) anticipate that rates of (180) and level of
economic activity will remain low. In all that has been written about
world_(181) , the_ (182) has been overwhelming and narrowly
economic. Few have (183) the human consequences in more than a
superficial manner. Not a single international study has (184) the
recession’s_ (185) on the most wvulnerable half of the world’s
population, i.e., the children.

| |
A. | Analysed | B. | Highlighted

C. | Prepared D. | Understood

Answer Key - A
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185.

In the following passage there are blanks, each of which has
been numbered. Choose the correct word from the given
options which fits the blank appropriately.

The world economy is in recession; the deepest and widest (176) the
1930s. There are (177) of (178) In the industrial countries, but most
serious economic_(179) anticipate that rates of (180) and level of
economic activity will remain low. In all that has been written about
world_(181) , the_ (182) has been overwhelming and narrowly
economic. Few have (183) the human consequences in more than a
superficial manner. Not a single international study has (184) the
recession’s_ (185) on the most wvulnerable half of the world’s
population, i.e., the children.

| |
A. | Analysis | B. | Impact

C. | Overtures D. | Undercurrents

Answer Key - B
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186 . Read the following passage carefully and answer the questions given

below.

At one time, in the history of India, most women knew very well how to bring
up their infants and they lived a perfectly healthy life, free from dizease=z. The
overall standard of women and children in the country was much better than
those of other civilizations of that period. But ever since India was exposed to
invasions by foreign nations, life became unsafe and property was unprotected.
and people were forced to congregate in towns in such a compact way that led
to awful insanitation and diseases. The traditional knowledge of domestic and
personal health and hygiene was ignored. Women were confined indoors for
fear of insults and a train of social and unhealthy dangers followed. It is a
problem now, how we can restore the original conditions of healthy and happy
life in India. This is a socio-economic problem which needs to be given priority
to bring back the original culture and restore welfare of women and children in

India.

What was the main cause of the poor health conditions of women in
India?

A Women were confined indoors | B. | Illiteracy among women

C. Awful insanitation D} Trade with foreign eountries

Answer Key - 0
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187.

Read the following passage carefully and answer the questions given
below.

At one time, in the history of India, most women knew very well how to bring
up their infant= and they lived a perfectly healthy life, free from dizease=z. The
overall standard of women and children in the country was much better than
those of other civilizations of that period. But ever since India was exposed to
invasions by foreign nations, life became unsafe and property was unprotected.
and people were forced to congregate in towns in such a compact way that led
to awful insanitation and diseases. The traditional knowledge of domestic and
personal health and hygiene was ignored. Women were confined indoors for
fear of insults and a train of social and unhealthy dangers followed. It is a
problem now, how we can restore the original conditions of healthy and happy
life in India. This is a socio-economic problem which needs to be given priority
to bring back the original culture and restore welfare of women and children in

India.

What question has the writer posed before the readers?

A How to check foreign ! B | Why has the traditional
] invasion? " | knowledge been ignored?
How can the original
C What should be done for D conditions of healthy and
] infants and women? | happy life be restored in
India?

Answer Key - D
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188 . Read the following passage carefully and answer the questions given

below.

At one time, in the history of India, most women knew very well how to bring
up their infants and they lived a perfectly healthy life, free from dizease=z. The
overall standard of women and children in the country was much better than
those of other civilizations of that period. But ever since India was exposed to
invasions by foreign nations, life hecame unsafe and property was unprotected.
and people were forced to congregate in towns in such a compact way that led
to awful insanitation and diseases. The traditional knowledge of domestic and
personal health and hygiene was ignored. Women were confined indoors for
fear of insults and a train of social and unhealthy dangers followed. It is a
problem now, how we can restore the original conditions of healthy and happy
life in India. This is a socio-economic problem which needs to be given priority
to bring back the original culture and restore welfare of women and children in

India.

How did life become unsafe and property unprotected?

Because of awful insanitation Because women were confined
and diseases ; indoors

C Exposure to frequent foreign D People were forced to
) invasions ) congregate in towns

Answer Key - C
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189 . Read the following passage carefully and answer the questions given

below.

At one time, in the history of India, most women knew very well how to bring
up their infant= and they lived a perfectly healthy life, free from dizease=z. The
overall standard of women and children in the country was much better than
those of other civilizations of that period. But ever since India was exposed to
invasions by foreign nations, life became unsafe and property was unprotected.
and people were forced to congregate in towns in such a compact way that led
to awful insanitation and diseases. The traditional knowledge of domestic and
personal health and hygiene was ignored. Women were confined indoors for
fear of insults and a train of social and unhealthy dangers followed. It is a
problem now, how we can restore the original conditions of healthy and happy
life in India. This is a socio-economic problem which needs to be given priority
to bring back the original culture and restore welfare of women and children in

India.

Why were the women confined indoors?

| ]
A To improve sanitation and ' | To keep them away from
] healthy atmosphere © | disease
Due to fear of inzultz anda
C. train of social and unhealthy D. || None of these
dangers

Answer Key - C
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190 . Read the following passage carefully and answer the questions given

below.

At one time, in the history of India, most women knew very well how to bring
up their infant= and they lived a perfectly healthy life, free from dizease=z. The
overall standard of women and children in the country was much better than
those of other civilizations of that period. But ever since India was exposed to
invasions by foreign nations, life became unsafe and property was unprotected.
and people were forced to congregate in towns in such a compact way that led
to awful insanitation and diseases. The traditional knowledge of domestic and
personal health and hygiene was ignored. Women were confined indoors for
fear of insults and a train of social and unhealthy dangers followed. It is a
problem now, how we can restore the original conditions of healthy and happy
life in India. This is a socio-economic problem which needs to be given priority
to bring back the original culture and restore welfare of women and children in

India.

How are foreign invasions responsible for poor health conditions?

People were forced to
A Foreigners maltreated the B | congregate in towns in a
] public " | compact way, leading to
insanitation
C Foreigners brought in D People were made to serve as
] unhealthy ways of life | labour

Answer Key - B
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191.

Read the following passage carefully and answer the
questions given below.

Gandhiji recognised that while all men should have equal
opportunity, all did not have the same capacity. Some had the
ability to earn more than others. But. he believed that those who
had talent would be performing the work of society if they used their
talent wisely and well. Gandhiji said that he would allow a man of
intellect to earn more and not suppress his talent. But it was his
view that the bulk of his larger earnings should go to the common
fund. Those with talent and opportunity would find their fulfilment
as trustees. Gandhiji extended this concept of trusteeship to cover

all fields of life.

Gandhijinever believed in

b O
A. | Social equality B. | Political equality
C. Completeequality inall D. '| Equality of opportunities
respects :

Answer Key - C
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Read the following passage carefully and answer the
questions given below.

Gandhiji recognised that while all men should have equal
opportunity, all did not have the same capacity. Some had the
ability to earn more than others. But. he believed that those who
had talent would be performing the work of society if they used their
talent wisely and well. Gandhiji said that he would allow a man of
intellect to earn more and not suppress his talent. But it was his
view that the bulk of his larger earnings should go to the common
fund. Those with talent and opportunity would find their fulfilment
as trustees. Gandhiji extended this concept of trusteeship to cover

all fields of life.

Gandhiji’strusteeship concept is-

! B I Apnplicable to social life

A. | A philosophy .

Applicable to all fieldsof
life

D. | Irrelevant today

Answer Key - C
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Read the following passage carefully and answer the
questions given below.

Gandhiji recognised that while all men should have equal
opportunity, all did not have the same capacity. Some had the
ability to earn more than others. But. he believed that those who
had talent would be performing the work of society if they used their
talent wisely and well. Gandhiji said that he would allow a man of
intellect to earn more and not suppress his talent. But it was his
view that the bulk of his larger earnings should go to the common
fund. Those with talent and opportunity would find their fulfilment
as trustees. Gandhiji extended this concept of trusteeship to cover

all fields of life.

According to Gandhiji,one can serve the society-

A. | If oneis talented I B. | If oneearned well

C. If.cne IR | D. | If one worked honestly
wisely

Answer Key - C
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Read the following passage carefully and answer the
questions given below.

Gandhiji recognised that while all men should have equal
opportunity, all did not have the same capacity. Some had the
ability to earn more than others. But. he believed that those who
had talent would be performing the work of society if they used their
talent wisely and well. Gandhiji said that he would allow a man of
intellect to earn more and not suppress his talent. But it was his
view that the bulk of his larger earnings should go to the common
fund. Those with talent and opportunity would find their fulfilment
as trustees. Gandhiji extended this concept of trusteeship to cover

all fields of life.

What is the meaning of “trustee™?

Person who hascharge of | B | State official who executes
property in trust "~ | wills and trusts

A

C. | Person having confidence | D..'| Number of trusts

Answer Key - A



Shashi Verma
Sticky Note
None set by Shashi Verma

Shashi Verma
Sticky Note
MigrationNone set by Shashi Verma

Shashi Verma
Sticky Note
Unmarked set by Shashi Verma


MASTER QUESTION PAPER WITH KEY

Exam Code : SSC_JHT_150617_2 Exam Date : 15-Jun-2017

Duration: 120 Exam Time : 2:00 pm

195 .

Read the following passage carefully and answer the
questions given below.

Gandhiji recognised that while all men should have equal
opportunity, all did not have the same capacity. Some had the
ability to earn more than others. But. he believed that those who
had talent would be performing the work of society if they used their
talent wisely and well. Gandhiji said that he would allow a man of
intellect to earn more and not suppress his talent. But it was his
view that the bulk of his larger earnings should go to the common
fund. Those with talent and opportunity would find their fulfilment
as trustees. Gandhiji extended this concept of trusteeship to cover

all fields of life.

Gandhiji believed that a man of intellect should-

Earn as much as he ! B | Earn for others, not
needs © | himself

A

E d not : :
C. Y SR D. | Live on charity
suppress histalent

Answer Key - C
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Read the following passage carefully and answer the questions given
below.

Just as some men like to play foothall or cricket, similarly some men like to
climb mountains. This is often very difficult to do, for mountains are not just
big hills. Paths are usually very steep. Some mountain sides are straight up
and down, so it may take many hours to climb as little as one hundred feet.
There 1= always the danger that you may fall off and be killed or injured. Men
talk about conquering a mountain. It is a wonderful feeling to reach the top of a
mountain after elimbing for hours and may be, even days. You lock down and
see the whole country below yvou. You feel god-like. Two [talian prisoners of war
escaped from a prizon camp in Kenyva during the war. They did not trv to get
back to their own country, for they knew that was impossible. Instead, they
climbed to the top of Mount Kenya, and then they came down again and gave
themselves up. They had wanted to get that feeling of freedom that one has,
after climbing a difficult mountain.

Some men like to climb mountains because

A They do not like to play ! B I They want to have a
] foothall or cricket * | wonderful feeling
C. E;i;ﬁ:;ﬂw the trick of 0. | They like to face danger

Answer Key - B
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Read the following passage carefully and answer the questions given
below.

Just as some men like to play foothall or cricket, similarly some men like to
climb mountains. This is often very difficult to do, for mountains are not just
big hills. Paths are usually very steep. Some mountain sides are straight up
and down, so it may take many hours to climb as little as one hundred feet.
There 1= always the danger that you may fall off and be killed or injured. Men
talk about conquering a mountain. It is a wonderful feeling to reach the top of a
mountain after elimbing for hours and may be, even days. You lock down and
see the whole country below yvou. You feel god-like. Two [talian prisoners of war
escaped from a prizon camp in Kenyva during the war. They did not trv to get
back to their own country, for they knew that was impossible. Instead, they
climbed to the top of Mount Kenya, and then they came down again and gave
themselves up. They had wanted to get that feeling of freedom that one has,
after climbing a difficult mountain.

According to the passage, why is it difficult to elimb mountains?

A Mountains are big hills B. | It consumes more time
C. Prisoners often escape fgpul [D. | Paths are steep and uneven
camps= and zettle there

Answer Key - D
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Read the following passage carefully and answer the questions given
below.

Just as some men like to play foothall or cricket, similarly some men like to
climb mountains. This is often very difficult to do, for mountains are not just
big hills. Paths are usually very steep. Some mountain sides are straight up
and down, so it may take many hours to climb as little as one hundred feet.
There 1= always the danger that vou may fall off and be killed or injured. Men
talk about conquering a mountain. It is a wonderful feeling to reach the top of a
mountain after elimbing for hours and may be, even days. You lock down and
see the whole country below yvou. You feel god-like. Two [talian prisoners of war
escaped from a prizon camp in Kenyva during the war. They did not trv to get
back to their own country, for they knew that was impossible. Instead, they
climbed to the top of Mount Kenya, and then they came down again and gave
themselves up. They had wanted to get that feeling of freedom that one has,
after climbing a difficult mountain.

In the passage, the sentence “It is a wonderful feeling to reach the top
of a mountain after climbing for hours and may be, even days.” 'It'
refers to

They were not treated - well in

A Mountain B. the prison

They liked climbing

mountains

C. D. MNone of these

Answer Key - D
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Read the following passage carefully and answer the questions given
below.

Just as some men like to play football or cricket, similarly some men like to
climb mountainzs. This is often very difficult to do, for mountains are not just
big hillzs. Pathz are usually very steep. Some mountain side=z are straight up
and down, so it may take many hours to climb as little as one hundred feet.
There is always the danger that yvou may fall off and be killed or injured. Men
talk about conquering a mountain. It is a wonderful feeling to reach the top of a
mountain after climbing for hours and may be, even days. You lock down and
see the whole country below you. You feel god-like. Two Italian prisoners of war
escaped from a prison camp in Kenya during the war. They did not try to get
back to their own country, for they knew that was impossible. Instead, they
climbed to the top of Mount Kenyva, and then they came down again and gave
themszelvesz up. They had wanted to get that feeling of freedom that one has,
after climbing a difficult mountain.

Mountaineering is not a very popular sport like foothall or cricket
because-

It may take many hours or B There are no spectators in this

A days © | sport

C People do not want to enjoy a D

god-like feeling None of these

Answer Key - D
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Read the following passage carefully and answer the questions given
below.

Just as some men like to play football or cricket, similarly some men like to
climb mountainz. This is often very difficult to do, for mountains are not just
big hills. Pathz are usually very steep. Some mountain sidesz are straight up
and down, so it may take many hours to climb as little as one hundred feet.
There is always the danger that yvou may fall off and be killed or injured. Men
talk about conquering a mountain. It is a wonderful feeling to reach the top of a
mountain after climbing for hours and may be, even days. You lock down and
see the whole country below you. You feel god-like. Two Italian prisoners of war
escaped from a prison camp in Kenya during the war. They did not try to get
back to their own country, for they knew that was impossible. Instead, they
climbed to the top of Mount Kenyva, and then they came down again and gave
themszelves up. They had wanted to get that feeling of freedom that one has,
after climbing a difficult mountain.

Two Italian prisoners escaped from the camp and climbed on the top
of Mount Kenya-

A To get the feeling of freedom B. | Toescape to [taly

C. To gain face as mountaineers | D} None of these

Answer Key - A
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